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Name: 

Daily Word Problem

E-81

Kehlani and her sister Jamelia went strawberry picking. They 
filled baskets of different sizes. When they were finished, they 
weighed their baskets. The data is shown on the line plot below.

________________________
How many baskets weighed 
more than a pound?

________________________
How much more did the heaviest 
basket weigh than the lightest?

Show your work.

Amount of Strawberries

Pounds
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Write your answer as a mixed number.



Daily Word Problem
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Name: E-82

Fiona is having an ice cream sundae bar at her birthday 
party. Her mom bought 5 quarts of ice cream and scooped 
one cup into each dish. How many dishes did she fill?  
Remember, 1 quart = 2 pints and 1 pint = 2 cups.

Show your work.

answer: ____________________



Daily Word Problem
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Name: E-83

________________________
How many pencils are there  
in all?

________________________

If the pencils are split evenly 
among 12 teachers, how many 
pencils does each teacher get?

Show your work.

There are 49 boxes of pencils in the supply closet. Each box 
contains 72 pencils.



Daily Word Problem
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Name: 

The deli clerk at Jim's Deli sliced 32.95 pounds of roast beef. 
Throughout the day, he sold 19.67 pounds. How many pounds 
of roast beef are left?

Show your work.

answer: ____________________

E-84



Daily Word Problem
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Name: E-85

Write your answer as a fraction or mixed number.

Gianna and Seyon each made salsa for a party. Gianna 
used 31/  cans of tomatoes. Seyon used 22/  times as many 
cans as Gianna. How many cans of tomatoes did Seyon use?

Show your work.

answer: ____________________

1
2

2
3



Daily Word Problem

ANSWERSE-81 through E-85

32.95 -- 19.67 = 13.28
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Write your answer as a fraction or mixed number.

Gianna and Seyon each made salsa for a party. Gianna 
used 31/  cans of tomatoes. Seyon used 22/  times as many 
cans as Gianna. How many cans of tomatoes did Seyon use?

Show your work.

answer: ____________________
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The deli clerk at Jim's Deli sliced 32.95 pounds of roast 
beef. Throughout the day, he sold 19.67 pounds. How many 
pounds of roast beef are left?

Show your work.

answer: ____________________

________________________
How many pencils are there  
in all?

________________________

If the pencils are split evenly 
among 12 teachers, how many 
pencils does each teacher get?

Show your work.

There are 49 boxes of pencils in the supply closet. Each box 
contains 72 pencils.

Fiona is having an ice cream sundae bar at her birthday 
party. Her mom bought 5 quarts of ice cream and scooped 
one cup into each dish. How many dishes did she fill?  
Remember, 1 quart = 2 pints and 1 pint = 2 cups.

Show your work.

answer: ____________________

Kehlani and her sister Jamelia went strawberry picking. They 
filled baskets of different sizes. When they were finished, they 
weighed their baskets. The data is shown on the line plot below.

________________________
How many baskets weighed 
more than a pound?

________________________
How much more did the heaviest 
basket weigh than the lightest?

Show your work.

Amount of Strawberries

Pounds
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Write your answer as a mixed number.

4 baskets

20 dishes

3,528 pencils

294 pencils
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5 × 2 = 10
10 × 2 = 20

49 × 72 = 3,528

3,528 ÷ 12 = 294

13.28 pounds cans
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